## EMPLOYMENT APPEALS TRIBUNAL

APPEAL(S) OF: CASE NO. **EMPLOYEE** RP2366/2010 MN1713/2010 **EMPLOYEE** RP2367/2010 MN1714/2010 RP2368/2010 **EMPLOYEE** MN1715/2010 **EMPLOYEE** RP2369/2010 MN1716/2010 **EMPLOYEE** RP2370/2010 MN1717/2010 **EMPLOYEE** RP2371/2010 MN1718/2010 **EMPLOYEE** RP2372/2010 MN1719/2010 **EMPLOYEE** RP2373/2010 MN1720/2010 **EMPLOYEE** RP2374/2010 MN1721/2010 **EMPLOYEE** RP2375/2010 MN1722/2010 **EMPLOYEE** RP2376/2010 MN1723/2010 RP2377/2010 **EMPLOYEE** MN1724/2010

against
EMPLOYER
under

## MINIMUM NOTICE AND TERMS OF EMPLOYMENT ACTS, 1973 TO 2005 REDUNDANCY PAYMENTS ACTS, 1967 TO 2007

I certify that the Tribunal (Division of Tribunal)

Chairman: Mr N. Russell

Members: Mr J. Browne

Ms S. Kelly

heard this appeal at Wexford on 18th November 2011

Representation:
Appellant(s):  Emily Kenny & Co, Accountants, Sanitta, 1 Clonattin, Gorey Co Wexford
Respondent(s):  No representation by or on behalf of the respondent
The decision of the Tribunal was as follows:
On the uncontested evidence of the appellants', the Tribunal finds that the appellants' are entitled to redundancy lump sum payments under the Redundancy Payments Acts, 1967 to 2007, as well as minimum notice payments based on the attached schedule.
This award is made subject to the appellant having been in insurable employment under the Social Welfare Acts during the relevant period. It should be noted that payments from the social insurance fund are limited to a maximum of €600-00 per week.
Sealed with the Seal of the
Employment Appeals Tribunal
This
(Sgd.) (CHAIRMAN)

Page 1 Employee Name	Case No	Date of Birth	Date Started	Date Ended	Hol Pay Due	Notice Due	Gross Pay	Min Notice Total
CARRAIG TUR NURSING HOME	E LIMITED							
EMPLOYEE	RP2366/2010 MN1713/2010	15-10-83	14-08-07	21-04-10	00.00	2	457.24	914.48
EMPLOYEE	RP2367/2010 MN1714/2010	19-08-69	06-10-07	21-04-10	00.00	2	173.00	346.00
EMPLOYEE	RP2368/2010 MN1715/2010	11-10-67	22-11-05	21-04-10	00.00	2	216.25	432.50
EMPLOYEE	RP2369/2010 MN1716/2010	22-11-79	14-04-04	21-04-10	00.00	4	599.40	2397.60
EMPLOYEE	RP2370/2010 MN1717/2010	20-05-70	01-11-04	05-05-10	00.00	4	686.23	2744.92
EMPLOYEE	RP2371/2010 MN1718/2010	25-10-59	21-09-05	21-04-10	00.00	2	510.25	1020.50
EMPLOYEE	RP2372/2010 MN1719/2010	24-03-74	29-09-05	21-04-10	00.00	2	269.46	538.92
EMPLOYEE	RP2373/2010 MN1720/2010	08-08-51	18-04-04	05-05-10	00.00	4	607.50	2430.00
EMPLOYEE	RP2374/2010 MN1721/2010	05-08-82	06-05-06	21-04-10	00.00	2	380.60	761.20

		Date of Date Birth Started	Date Ended	Notice Due	Gross Pay	Min Notice Total
EMPLOYEE	,	15-02-77 26-03-06	5 21-04-10 00.00	2	380.60	761.20
EMPLOYEE	MN1722/2010 RP2376/2010 MN1723/2010	26-08-57 09-09-05	5 21-04-10 00.00	2	510.25	1020.50
EMPLOYEE	RP2377/2010 MN1724/2010	24-03-57 06-03-07	21-04-10 00.00	2	420.03	840.06